R mE
~/Name of Article ~/Model#
M3 7—Z% & M3 Ground Terminal M1866-A
M4 7—Z4 8 M4 Ground Terminal M1866
M1866-A
mE mE
~Name of Article / Model#
M3 7—X%& & M3 Ground Terminal |  M1902-A
- M4 7—ZX4& 8 M4 Ground Terminal M1902
M1902-A
an Dnﬂg
~Name of Article ~/Model#
- T —AXZ—3FJV  /Ground Terminal T5435
=
¥
- T5435
3.5 an ﬂl:é
8.3 ~Name of Article ~/Model#
6. 7 I M3 *ZUF M3 Screw Terminal M1698
M3. P=0. 5 ﬂ M3 xIfF& M3 Screw Terminal M2095
Al 4 M4 xZimF M4 Screw Terminal M1713
b £2E
TEA& Rating 1 15A
515
M1698 U U 11, 5
3 5 an Dnﬂg
. ~/Name of Article ~/Model#
.8 M3 xZ#F M3 Screw Terminal M1699
1
M3.P=0.5 " R M3 XIfFE M3 Screw Terminal M2096
@ © M4 xZIEF M4 Screw Terminal M1714
" ’ [ TR Rating 1 15 A
M1699 L2
2[=) ﬂ%%
3.5 /Name of Article /Model#
7.8 M3 *Z#F M3 Screw Terminal M1700
M3. P=0. 5 = t%i M3 xIfFE M3 Screw Terminal M2107
® : ‘ M4 2JIHF M4 Screw Terminal M1715
e TEF& Rating 1 15A
5
M1700
RS %
~Name of Article /Model#
g —'I_I_'_ < M3 *ZF M3 Screw Terminal M1916
| HL © TEH& Rating 1 15A
M3, P=0.5
8. 8 3
4. 3.1
M1916
) &
10 ~Name of Article ~/ Model#
— B84
& ! M3 *ZUF M3 Screw Terminal | M2045-M3
iy b @ TERE Rating 115 A
M2045-M3

15




